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Alkynes

1. What reagents should be used to make an acetylide ion?
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2. Why are acetylide ions useful? What are the reagents used for this reaction? " . &
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3. Draw keto-enol tautomerization.
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4. Synthesize the following mvc:Iecules starting with acetylene.
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S. Provide the reagents for each of the following reactions. Show the mechanism for each reaction.
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6. Complete the following reactions of alkynes.
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Alkyl Halides
7. Increase in size of a particle m'g (20C€ bond length. Increase in bond length leads to (iq (ea§Cin

bond strength.

8. The dipole moment between molecules depends on C\/\O\‘( q& d" C\\ sTan C’L.

9. Why do radicals not generate a charge?
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10. Which radical process is more selective? Why? P As osTy\ote— late \ntev medigte statz
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11. Draw an example of each of the following: pngmgr? alkyl halide, secondary alkyl halide, tertiary alkyl
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12. What is the hierarcp/y of allylic radicals (from most to least stable)? S
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